
1. Write the following numbers in ascending order.

56%,
3

5
, 0.65,

2

3
,

……..…….…………………………

(2 marks)

2. Write           as a percentage.1.2
…………………

(1 mark)

3. Find 35% of £140.

…………………

(1 mark)

4. Write            as a fraction in its simplest form.0.12

…………………

(2 marks)

5. Round 7.08512 to 2 decimal places.

…………………

(1 mark)

6. Write down the fifth cube number.
…………………

(1 mark)

7. Workout 1.24 × 36

…………………

(2 marks)

8. Work out £7.48 ÷ 4

…………………

(1 mark)

9. Work out −6 × 8
…………………

(1 mark)

10. Work out 25

…………………

(2 marks)
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3

5
, 56%, 0.65,

2

3

120%

£49

3

25

7.09

125

44.64

£1.87

−48

32



11. Some cards have been shared between Andrew and Chloe in the ratio 1:3.

…………………

(2 marks)

12. Leo has two £10 notes. He bought 3 pairs of shorts which cost £6.25 each.

How much change will he get?

1
2

3
+
1

4

…………………

(2 marks)

13. Work out

…………………

(2 marks)

14. Workout

…………………

(2 marks)

15. Workout

…………………

(2 marks)

16. Workout
…………………

(2 marks)

6

9
×
7

8

1
1

2
−
3

5

3

5
÷
13

20

17. Write down three factors of 36 which sum together to total 16.
…………………

(2 marks)

18. What is     of 68.
…………………

(1 mark)

3

4

19. Write                        as an ordinary number.
…………………

(2 marks)

3.8 × 10−9

20. Convert  0.784  into standard form.
…………………

(2 marks)
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Score =

Chloe ended up with £12 more than Andrew. 

How much did they have all together?
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1
11

12

51

9 + 4 + 3

0.0000000038

£24

£1.25

9

10

7

12

12

13

7.84 × 10−1


